SctAE HAE OE 0 e HAMTE U= 28 2 2H|Q1A O

HA 21K 70/ A
=5 4Y/HIE o[0ix|

for electrics

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE My
QI ZHKE= HX 8o 2 QlsH &S IxI7H Hats 22 WxIshol
ste 2ol ASELICH MM EEE 2522 Ho{okgt 2

2 0lSE 4 YBLICt

AEf MM7E U QA EAX]0|AM 28 HEHE TAIHoE 214|504
St o)

A& M2 = 2

THE:
AR T
LIAF €2[2 2 &3 El: A,

AHQIE|A AR H{H:
22 E 43

LIAF £ 2|5 1.4305.
2 El1.4034.

&2 E, Fst 5K et 3
LIAF £ 2|5 1.4305.
2 El1.4305.

BAE 02, 7tA Y, TS,

EM OIF2:

AR HA:

LAt &2l8, 47F A=t #ME|

= B, 35t AEl, Aok X Y s X2

AEQIE|A AE! H{™:
LIAL &2|E, FEE X2
X3 = 743} al of

MEf MME S-1mm AEER 39 22|04 MetghLct

71= G0l E:

ST MHAM:

1 3|2: PNP HM7|(NO)
et 6-30VDC
M3 <100 mA

22241 mm

A Q|E F7]: <4000 Hz

Char g x| g

HIMES: QS

232 §=2:1P67

A €. 2mPVC #Holg

2 Q[ -10° C ~ +70°C

&9l: CE, c-UL-u, EAC

nu

[> 220 121 mfy
4o oin ofn 4

www.kipp.com - info@kipp.com 1/3



SciAE A JE 0 M MAMIL U= 28 =

A Zeix, HO]

=5 4Y/HIE o[0ix|

o|=:

SEf MM}l QIElA B
Lick. 8t &+ Elo| st

Ct.

bl i b

SEf MMzt Qs QIEtA BRIKIE

Ct.

EMH MY

ElQlA- 2 22 Q8 7 oie
= AR 2 A HAR[, HA
Elel B: &2 &% 913, 7t AR
Bl C:. &HZ &R UZ, 7 A=
EtU D: 3 &RUS, 7t AUAS
P =70l &0l
BN = ZM
BK = A&
BU = &M
=0
® D2
{7
—+
1
SWwi
N
~ |
T~
o | |
~ \ll 1
v - I
Ll
-0,02 |
D 004 -
| D1
ESRY%
FEHS ZE D DI D2D3 L L1L2L3 AEE3 SW1 Fx30° P AlZ} Etd
Eto Y-
F12 N F2 2N
K1744.11051 A AE Zst 5 M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.12061 A AE] Zdst 6 M12x1,5 25245620 8 17 6 14 1,8 2000 6 14
K1744.13081 A AE 73 8 M16x1,5 33 2,4 74 26 10 23 8 19 23 2000 15 35
K1744.14101 A AE] 23t 10 M20x1,5 332480281225 10 22 28 2000 15 34
K1744.14121 A A3t 12 M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39
K1744.011051 A  AEQIEIA A ZFs 5 MI10x1 25245117 7 15 5 13 1,3 2000 5 12

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/3



°
— - —_ _
S2tAE KA Ol 1t el MA{7} = 28 =2 AH|Ql2A 2
A ZEX|, H0IE HE
E= Y%
FEHS Etel = PES] H=ZE D D1 D2D3 L L1L2L3 AEZ3 SW1 Fx30° P AlZ} Erd
S e 52
F12% N F22. N
K1744.012061 A  AE[QIEHA AE 23t 6 M12x1,5 25 2,45620 8 17 6 14 1,8 2000 6 14
K1744.013081 A  AHIQIBA AE! A3 8 M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.014101 A  AEQIA A& 73 10 M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34
K1744.014121 A  AEQIHA AEl Z3 12 M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39
K1744.111051 A  AEIQEA AR HZE 5 M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.112061 A  AH]QIEA AR H|ES 6 M12x1,5 25 2,4 5620 8 17 6 14 1,8 2000 6 14
K1744.113081 A  AE|QIEIA A8l H|ZASE 8 M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.114101 A  AEIQIBA AEl  H|ZAS 10 M20x1,5 33 2,4 8028 12 25 10 22 2,8 2000 15 34
K1744.114121 A  AEQIEIA AEl  H|ZAS 12 M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



